INTRODUCTION TO FINANCIAL FUTURES
1. A client goes long one (1) June S&P 500 Index futures contract at 100.00 on the last trading day for June contracts.  The contract last trades on that day at 100.35.  If the underlying S&P 500 Index's final settlement for the June contract is 100.33 and the customer has not offset his position, he will:   Answer = C

A. Be credited $175

B. Be debited $175

C. Be credited $165

D. Be debited $165

2. S&P 500 futures close trading on the:   Answer = B

A. Third Thursday of the expiration month

B. Thursday before the third Friday of the expiration month

C. Friday prior to the third Saturday of the expiration month

D. Business day prior to the third Saturday of the expiration month

3. The Value Line Average futures contract is traded on the:   Answer = D

A. New York Futures Exchange

B. IMM of the Chicago Mercantile Exchange

C. New York Mercantile Exchange

D. Kansas City Board of Trade

4. Customer Smith shorted one S&P 500 Index futures contract at 172.75 and covered his position when the contract was trading at 168.95.  This resulted in:   Answer = A

A. A profit of $1,900

B. A loss of $1,900

C. A profit of $9,500

D. A loss of $9,500

5. The settlement of an NYSE Composite Index contract is achieved through deliver of: Answer =D

A. A weighted portfolio of approximately 1600 NYSE listed stocks.

B. A "market basket" of representative NYSE -- listed shares

C. The full value of the Index in cash

D. The cash equal to the difference between the final index value and the contract's previous day's close

6. An investor holds a diversified portfolio of common stocks valued at $110,000.  The portfolio's beta is approximately 1.0.  If the S&P 500 Index is currently @ 108.85, and the investor forecasts a sharp, near-term drop in the market, he could best hedge the total portfolio by:  Answer = D

A. Buying 1 S&P 500 Index futures contract

B. Buying 2 S&P 500 Index futures contracts

C. Selling 1 S&P 500 Index futures contract

D. Selling 2 S&P 500 Index futures contracts

7. Stock index futures are most useful in hedging against:  Answer = D

A. Unsystematic risk

B. Diversifiable risk

C. Credit risk

D. Systematic risk

8. The actual dollar value of a S&P 500 Index futures contract traded at 363.30 would be:  Answer = B

A. $36,330

B. $181, 650

C. $50,000

D. $363,330

9. The current S&P 500 average is at 170.  Assume that an investor's portfolio had a beta of 2.0 and was currently valued at about $170,000.  The portfolio would be fully hedged if the investor sold short:   Answer = D

A. 1 S&P 500 Index futures contract

B. 2 S&P 500 Index futures contracts

C. 3 S&P 500 Index futures contracts

D. 4 S&P 500 Index futures contracts

10. A buyer of the TED spread would:   Answer = B

A. Buy Eurodollar futures, sell T-Bill futures

B. Buy T-Bill futures, sell Eurodollar futures

C. Buy T-Bond futures, sell T-Bill futures

D. Buy Municipal Bond futures, sell T-Bill futures

11. A customer's position in the Value Line Average futures contracts has reached reporting levels.  The position must be reported to the CFTC:   Answer = B

A. Unless the customer is a bona fide hedger

B. Daily

C. Weekly

D. Monthly

A. 12. A trader buys one S&P 500 Index futures contract at 115 and later sells it at 115.70.  The profit, before commissions is:   Answer = B

B. $170

C. $350

D. $700

E. $2,125

A. 13. Which of the following long positions would be most effectively hedged by a short position in NYSE Composite Index futures:   Answer = C

B. A portfolio of utility stocks

C. A portfolio of high technology stock

D. A broadly diversified portfolio

E. None, you would hedge by being long index futures

A. 14. Today's settlement value of a NYSE Composite Index Futures contract is 66.60.  The previous day's settlement value was 66.40.  A member having a long position of two (2) contracts would have that position:   Answer = C

B. Credited $400

C. Debited $400

D. Credited $200

E. Debited $200

A. 15. Today is June 2.  Yesterday S&P 500 Index June futures closed at 175.00.  Today's closing price could not exceed:   Answer = D

B. 176.50

C. 178.00

D. 180.00

E. There is no limit

A. 16. Which of the following stock market contract represent the greatest number of stocks:   Answer = C

B. NYSE Composite 

C. S&P Composite

D. Value Line Average

E. Dow Jones Composite

A. 17. On Tuesday, October 25, a trader sells short one NYSE Composite Index futures March contract at 69.00.  The trader covers the short on Tuesday, November 1, at a price of 69.90.  His profit or loss from this trade, excluding expenses, would be:   Answer = B

B. $450 profit

C. $450 loss

D. $900 profit

E. $900 loss

18. Stock index futures are traded currently on all of the following stock market indexes except:

A. Answer = D

B. The New York Stock Exchange Composite Index

C. The Standard and Poor's 500 Index

D. The Value Line Average Index

E. The Dow Jones Industrial Average

A. 19. A portfolio comprised of smaller, more speculative stock issues would best be hedged against the:   Answer = C

B. The New York Stock Exchange Composite Index

C. The Standard and Poor's 500 Index

D. The Value Line Average Index

E. No Difference

A. 20. A trader buys two December Value Line futures at 122.55.  He liquidates his position at 123.20.  The Value line index settles at 123.40.  After commissions of $80/contract, his profit is:   Answer = C

B. $245

C. $405

D. $490

E. $570

A. 21. On September 1, a portfolio manager anticipates that he will receive about (5) million dollars during the next three months, which he expects to invest in common stocks.  He is confident the current strong bullish sentiment will prevail and decides to lock-in the present market level.  He could obtain this by:   Answer = A

B. Buying sock index futures

C. Selling stock index futures

A. 22. The portfolio manager of a large institution wants to hedge a five million-dollar equity exposure.  Assuming the portfolio is perfectly configured to the S&P 500 Index, and the S&P Index futures are trading at a price of 125.00, how many contracts are required for the hedge?   Answer = B

B. 160 contracts

C. 80 contracts

D. 40 contracts

E. 60 contracts

23. Customer Smith deposits $25,000 on day one.  On day two, Smith buys a Dec S&P at 317.10; goes short a December NYSE at 187.25; and buys a November MMI on the close at 505.60.  On day three, the markets post the following settlement prices:

Dec S&P 318.25

Nov MMI 506.50

Dec NYSE 186.95

At the close of day three, what is Smith's total equity?    Answer = D

A. $26, 175

B. $25,650

C. $26,950

D. $25,950

24. When Value Line futures are quote at 92.45, what is the futures contract's total dollar value?

A. Answer = B

B. $92.45

C. $46,225.00

D. $9,245.00

E. $4,622.50

25. An open position in a stock index futures contract, if held to maturity, would be settled by:   

A. Answer = C

B. Delivery or receipt of actual securities

C. Cash settlement, based on contract's total dollar value

D. Cash settlement, based on difference between the final settlement price and the previous day's close

E. Inter-exchange Depository receipt for listed securities

26. Stock index futures gives a money manager a method of adjusting the impact of unsystematic risk on stock prices.   False

27. Unlike the agricultural commodities, a short sale in stock index futures can only be made on an up-tick.   False

A. 28. Britain has found oil deposits in the North Sea.  Japan has labor problems.  To take advantage of the expected currency fluctuations you would:   Answer = C

B. sell pounds

C. buy yen

D. buy pounds/sell yen

E. sell pounds/buy yen

A. 29. A U.S. firm has contracted to pay 250 million yen for automobile parts from a firm in Japan within three months.  The U.S. firm is concerned that the Japanese yen will appreciate in value and, therefore, intends to hedge by purchasing 20 futures contracts.  (Japanese yen contract size is 12,500,000 yen).  The current value of the yen in the cash market is .004076 and the futures market is .004128.  Three months later that cash market is .004372 and the future market is .004418.  If the U.S. firm did not hedge, the additional cost would be:   Answer = C

B. no additional cost

C. $3,552

D. $74,000

E. $1,093,000

30. An American importer places an order with a Swiss watch manufacturer.  The order, to be delivered in August, is valued at 2,000,000 Swiss francs.  The cash price for the franc is $.5975 and September futures are trading at $.5725.  The most effective hedge for the importer would be to:

A. Answer = C

B. buy Swiss francs in the cash market and sell Swiss franc futures

C. sell Swiss francs in the cash market and buy Swiss franc futures

D. buy Swiss franc futures

E. sell Swiss franc futures

A. 31. An individual has a profit of 88 ticks per contract on three T-Bill contracts.  What is the total profit:   Answer = B

B. $2,200

C. $6,600

D. $8,800

E. $26,400

A. 32. Responsibility for regulating U.S. Treasury Bill futures is in the hands of the:   Answer = D

B. U.S. Treasury

C. Federal Reserve Board

D. Comptroller of the Currency

E. Commodity Futures Trading Commission

A. 33. A corporate financial executive in July completes plans to borrow $10,000,000 in Eurodollars in March.  The LIBOR for Eurodollars is 8.345%.  The 3-month Treasury Bill rate is 7.5% and March Eurodollars futures are at 8.74%.  What would he do to hedge?   Answer = C

B. Buy March Eurodollars futures

C. Buy March T-Bill futures and sell March T-Bills

D. Sell March Eurodollars futures

E. Buy March T-Bill futures and March T-Bills

A. 34. In 3 months, your client is going to receive $2,000,000 from the sale of his business and use the money to invest in a new business venture.  He plans to invest the money in Treasury bills and likes the current yield on the three-month T-Bills.  He is also anticipating lower interest rates.  Which of the following should he do to take advantage of the current yield?   Answer = A

B. Buy three-month T-Bill futures

C. Sell three-month T-Bill futures

D. Buy three-month T-Bill futures and take delivery

E. Sell three-month T-Bill futures and take delivery

35. A speculator discovers in June than September T-Bond futures contracts are 88-02 and December T-Bond futures are 88-30.  He believes the spread will widen.  He should:   Answer = C

A. Buy September and sell December

D. B. Buy September and buy December

E. Sell September and buy December

F. Sell September and sell December

36. If the current yield on a bond is greater than the coupon rate, the bond would be priced at what? 

Answer = C

A. Par

B. Premium

C. Discount

Use the following information to answer questions 37 through 40:

In June, Chrysler Credit Corp. (CCC) plans to offer $30 million of 20-year bonds in November.  In June, CBOT long-term U.S. T-Bond futures are:


September
December
March

June

89-28

90-08

90-16

90-23

In June, comparable bonds of Ford Motor Credit Corp. (FMC) are at 87-29.  The CCC treasurer is worried that interest rates may increase, and he decides to hedge using T-Bond futures.  The T-Bond futures contract size is $100,000.

37. To hedge, he would:   Answer = B

A. Buy 300 March T-Bond futures

B. Sell 300 December T-Bond futures

G. C. Sell 30 March T-Bond futures

H. Buy 20 December T-Bond futures

38. Relative to FMC's bond price, CCC basis in June when the hedge is initiated is:   Answer = C

A. 2-19 under the futures

B. 2-19 over the futures

F. C. 2-11 under the futures

G. 2-11 over the futures

39. The issue was fully subscribed by Nov. 15 at an average price of 83-12.  The futures on that same date were offset at 84-31.  Thus, due to the hedge and change in basis, CCC has: Answer=B

A. Provided protection against the increase in interest cost amounting to $22,500

B. Provided protection against an increase in interest cost amounting to $225,000

F. C. Been affected by an increase in interest cost amounting to $22,500

G. Been affected by an increase in interest cost amounting to $225,000

40. As a result of the hedge, the final rate at which the issue priced was:   Answer = D

A. 78-03

B. 82-00

F. C. 83-12

G. 88-21

41. A portfolio manager goes long 5 September Value Line Index futures at 229.50.  The Value Line Index is trading at 227.60.  What is the value of the portfolio managers futures position? 

Answer = C

A. $113,000

B. $114,750

F. C. $573,750

G. $569,000

42. In July, a spread trader believes the market will rally over the next four months.  The December NYSE Index future is trading at 117.15, while March is trading at 118.05.  If the trader were going to put on a bull spread, he would sell March NYSE futures and buy December NYSE futures.

True.

Answer 43 - 48 using the following information.

Consider an institutional investor in Treasury Bonds.  He is a manager of a pension fund.  On March 1, he anticipates receiving about $1 million of funds for investment three months hence.  On March 1, yield to maturity are 8.42% on 20 year 8% bonds.  He thinks this rate is satisfactory and decides to lock in that yield in the September option of U.S. Treasury Bond futures in case it falls in the course of three months.  The price of 20 year 8% bonds at 8.24% yield is 96-00; the price on March 1 in the September T-Bond futures is 95-08 (yield 8.50%).  By June 1, yields have declined as he anticipated.  He offsets his futures position on that day at 99-08 (yield 8.08%) and buys $1 million of 20 year 8% U.S. Treasury Bonds at 100-00 (yield 8.00%).

A. 43.  What position should the investor have taken in the futures market to hedge his risk?   Answer = A

B. Buy the September futures of T-Bonds

C. Sell the September futures of T-Bonds

D. He should not use the futures market because he has no risk of changing T-Bond yields

A. 44. How many contracts of T-Bond futures should the institutional investor use to hedge his futures commitment?   Answer = C

B. 1

C. 5

D. 10

E. 20

A. 45. What was the profit or loss on his futures transaction?   Answer = C

B. $4,000 loss

C. $4,000 profit

D. $40,000 profit

E. No profit or loss

A. 46. What was his loss of opportunity in the transaction?   Answer = D

B. $4,000 loss

C. $4,000 profit

D. $40,000 profit

E. None of the above

47. What was the basis change from March 1 to June 1 relative to the above transaction?  

A. Answer = C

B. +24 ticks

C. - 24 ticks

D. No change

48. Due to the above transaction, what was the yield that the investor was able to lock in?   

A. Answer = C

B. 8.00%

C. 8.50%

D. 8.42%

E. 8.08%

Answer 49 - 51 using the information above the following.

Assume that by June 1 cash market bond prices had risen to 100-08 to yield 7.98% instead of to 100-00 but the futures market rose to 99-08 as above.

49. What would the net result of the investor's hedge be with this change in the cash market yield?  

A. Answer = C

B. No change in the net result of the hedge

C. The investor would have to pay a net $250 more for the bond than the price that he thought he locked in

D. The investor would have to pay a net $2,500 more for the bond than the price he thought he locked in.

E. The investor would have to pay a net $250 less for the bond than the price that he thought he locked in

50. What is the change in basis from March 1 to June with this change in the cash market yield?   

A. Answer = C

B. No change in basis

C. - 8 ticks

D. +8 ticks

E. None of the above

A. 51. If the investor would not have hedged, what would his total loss of opportunity with this change in the cash market yield?   Answer = D

B. $250 loss

C. $2,500 loss

D. $4,250 loss

E. $42,500 loss

Answer 52 - 57¨using the following information.

Consider a bond dealer who holds an inventory of bonds for later resale to permanent investors if on March 1 he has an inventory of $2 million of U.S. Treasury bonds with an 8% coupon and a 25-year maturity.  Their current market value is 99-08 to yield 8.07%.  Assume he wants to hold onto these bonds for a short time, yet he is afraid that rising interest rates may be imminent.  To hedge his risks, he decides to use the U.S. T-Bond futures market.  On March 1st June T-Bonds are at 98-16 (yield 8.15%).  On March 15 he sells his $2 million inventory of U.S. Treasury Bonds at 94-08 and offsets his futures position.  June T-Bonds futures are at 93-16 on March 15. 

52. What type of hedge should this bond dealer assume to reduce his risk of T-Bond yield change?

A. Answer = B

B. A long hedge

C. A short hedge

D. He should not use the futures market to hedge
E. None of the above
53. How many contracts of T-Bond futures should the bond dealer use to hedge his cash position?   

A. Answer = C

B. 2

C. 5

D. 20

E. None of the above

A. 54. What was the profit loss in his futures position?   Answer = C

B. $5,000 loss

C. $10,000 profit

D. $100,000 profit

E. $5,000 profit

F. None of the above

A. 55. What was the net result of the hedge?   Answer = D

B. $10,000 loss

C. $10,000 profit

D. He locked in a yield of 8.15%

E. None of the above

A. 56. What was the basis March 15 when he sold his inventory of T-Bonds and offset his futures position?   Answer = C

B. + 5-27

C. + 5-00

D. + 0-24

E. + 1-24

F. None of the above

A. 57. What was the loss in the value of the bond dealer's T-Bond inventory from March 1st to March 15th?    Answer = C

B. There was no loss since the bond dealer held an inventory of actual U.S. Treasury Bonds and they don't change in value

C. Due to the increase in the yield from 8.07% to 8.56%, his T-Bond inventory increased in value by $100,000

D. Due to the T-Bond value change of 5-00, his inventory value decreased by 5% or $100,000

E. None of these

Answer 58 - 62 using the following information.

A portfolio manager expects a temporary downturn in the market and wishes to hedge his $15,000,000 stock portfolio.  On October 1, the S&P 500 Index equals 326.10.  The December S&) 500 Index future is trading at 328.20.  By December 1, the market has declined with the S&P 500 Index future trading at 295.00.  Assume the portfolio has a Beta of 1.0

A. 58. What hedge will the portfolio manager utilize?   Answer = B

B. Buy December S&P 500 futures

C. Sell December S&P 500 futures

D. Neither because with a balanced portfolio he has no risk in a down market.

A. 59. How many contracts will the manager need to use to hedge the portfolio?   Answer = D

B. 102

C. 184

D. 300

E. 92

A. 60. What was the net result of the manager's futures position?   Answer = C

B. $1,527,200 loss

C. $16,600 gain

D. $1,527,200 gain

E. $16,600 loss

A. 61. What was the net result of the manager's hedge?   Answer = C

B. $27,200 loss

C. $16,300 loss

D. $27,200 gain

E. $16,300 gain

A. 62. What was the change in the basis?   Answer = A

B. + 60

C. - 60

D. + 90

E. No change

Answer 63 - 67 using the following information.

On September 1 a U.S. importer contracts to buy German machines for a total cost of 500,000 DM.  The payment date is December 1.  When the contract is signed on September 1, the spot exchange rate is $.2984 per DM and the December future rate is $.4010 DM.  When payment is due on December 1 the spot exchange rate has risen to $.4114 per DM and the December future rate is $.4130 per DM.

A. 63. What hedge will the importer utilize?   Answer = A

B. He doesn't need to hedge

C. Buy December DM futures

D. Buy September DM futures

E. Sell December DM futures

A. 64. How many contracts were involved?    Answer = C

B. 1

C. 2

D. 4

E. 8

A. 65. What was the result of the futures hedge?   Answer = C

B. $1500 gain

C. $3000 gain

D. $6000 gain

E. $6000 loss

66. What was the net result of the hedge?   Answer = D

A. $6500 loss

E. B. $6500 gain

F. $500 gain

G. $500 loss

67. What was the basis change?  Answer = A

A.  + 10

E. B.  + 26

F. - 16

G. No change

Answer 68 - 70 using the following information.

A speculator believes that blue-chip stocks will rise sharply over the next several weeks but doesn't wish to commit cash to buy a balanced portfolio.  Instead he wishes to utilize the futures market.  On September 1 the MMI index is at 500 and the November future is trading at 515.50.  On November 1 the MMI index is at 550 and the November futures are at 565.50.  On September 1 he trades 5 contracts.

68. What position would the speculator take in the futures market?   Answer = B

A. Sell futures

B. Buy futures

69. What was the result of the speculator's futures position?   Answer = C

A. $25,000 gain

E. B. $25,000 loss

F. $12,500 gain

G. $12,500 loss

70. What was the net change in the basis?    Answer = D

A. - 1550

B. + 1550

F. C. - 250

G. No change

Answer 71 - 75 using the following information.

On September 1 a U.S. exporter contracts to sell U.S. goods for SF 250,000.  The goods are to be delivered and payment received on December 1.  When the contract is signed the spot exchange rate is $.6098/SF and the December future is $.6212/SF.  When the goods are delivered on December 1 the spot exchange rate has fallen to $.5696/SF and the December future has fallen to $.5772/SF.

71. What hedge will the exporter utilize?   Answer = B

A. Buy December SF futures

B. Sell December SF futures

F. C. Sell September SF futures

G. No hedge is needed

72. How many contracts were involved in the hedge?   Answer = B

A. 1

B. 2

F. C. 4

G. 8

73. What was the result of the futures position?   Answer = A

A. $11,000 gain

B. $11,000 loss

F. C. $10,050 gain

G. $10,050 loss

74. What was the net result of the hedge?   Answer = D

A. $475 gain

B. $475 loss

F. C. $1900 gain

G. $950 gain

75. What was the change in the basis?   Answer = C

A. - 38

B. + 19

F. C. + 38

G. No change

Answer 76 - 80 using the following information.

An investor feels that the political and economic situation in Latin America will worsen and will cause concern for the large money-center banks.  He feels that this should be negative for Eurodollars and positive for U.S. T-Bills causing a change in their spread relationship.  Today December Eurodollar futures are trading at 93.93 and December T-Bill futures are trading at 94.83.  Later December Eurodollar futures are at 93.72 and December T-Bill futures are at 94.76.  The investor trades one contract. 

76. What does the investor do to profit from this situation?   Answer = C

A. Sell December T-Bill futures

B. Buy December Eurodollar futures

F. C. Buy TED spread (Buy Dec. T-Bill futures, sell Dec. Eurodollar futures)

G. Sell TED spread (Sell Dec. T-Bill futures, buy Dec. Eurodollar futures)

A. 77. What was the gain or loss on the December T-Bill future?  Answer = A

B. $175 loss

C. $175 gain

D. $700 loss

E. $700 gain

78. What was the gain or loss on the December Eurodollar future?   Answer = D

A. $2100 gain

B. $2100 loss

F. C. $525 loss

G. $525 gain

79. What was the net on the TED spread?   Answer = B

A. $350 loss

B. $350 gain

F. C. $1400 gain

G. $1400 loss

80. What was the gain or loss on the spread?   Answer = B

A. - 14

B. + 14

F. C. - 114

G. + 114

